
Stanoviště: 1 — Matematická křížovka 
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Vodorovně 
1: násobek 12 
2: 1 vodorovně plus 7 
4: 6 vodorovně plus 5 
6: 1 vodorovně plus 8 
7: ciferný součet 5 svisle 
8: 7 vodorovně mínus 1 
9: 3 svisle plus 2 
Svisle 
1: 9 krát 6 vodorovně 
3: ciferný součet 4 vodorovně 
5: přesmyčka číslic 4 vodorovně 
7: ciferný součet 1 svisle 
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Vodorovně 
1: ciferný součet 5 vodorovně 
3: přesmyčka číslic 5 vodorovně 
4: 1 vodorovně plus 11 
5: 9 vodorovně mínus 11 
6: souvislá rostoucí řada číslic 
8: 3 svisle plus 6 
9: ciferný součet tohoto čísla je 13 
Svisle  
2: 11 krát 9 vodorovně 
3: 4 krát 9 vodorovně 
4: 2 krát 1 vodorovně 
7: souvislá rostoucí řada číslic 
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Vodorovně 
1: 1 svisle mínus 6 
2: ciferný součet 3 vodorovně 
3: 7 svisle plus 4 vodorovně 
4: 3 svisle mínus 9 vodorovně 
5: přesmyčka 2 svisle 
6: souvislá rostoucí řada číslic 
7: ciferný součet 4 vodorovně 
8: 9 vodorovně plus 1 svisle 
9: ciferný součet 4 vodorovně 
Svisle 
1: 7 svisle plus 2 svisle 
2: 7 vodorovně plus 2 
3: 8 krát 9 vodorovně 
5: 2 vodorovně plus 1 vodorovně plus 9 
6: 9 vodorovně plus 1 svisle 
7: ciferný součet 4 vodorovně 
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Vodorovně 
1: souvislá rostoucí řada číslic 
2: ciferný součet 4 svisle krát 11 
3: ciferný součet 2 vodorovně 
4: 7 vodorovně plus 11 
7: souvislá rostoucí řada číslic 
9: 6 svisle plus 3 vodorovně 
Svisle 
1: 8 svisle plus 5 
2: 9 krát 3 svisle 
3: ciferný součet 1 svisle 
4: ciferný součet 2 vodorovně 
5: 3 vodorovně plus 8 svisle 
6: souvislá rostoucí řada číslic 
8: souvislá rostoucí řada číslic 
 
 

E 

B 

J 

F 

I 

D 
A 

G 

H 

C 


